DET.2

BL2,4x2,0

Varia P. Side mounfed.idw

KKR-40x40x3 qual. $355

g12

DET

A

L30x30x3

1

N

A

\\

0000000000000 0OO(G
0000000000000 0OO(JQ

POOO00O00OO00O0O0O0O0O(JQ
COOO000O00OO00O0000OO(JQ
COOO000O00OO00O0O0O0O(JQ
COOO00O000OO00O0O000OO(JQ
COOO000O00OO00OO0O0O0O(JQ
COOO00O00OO00OO0O0O0O(JQ
COOO000O00OO00OO000OO(JQ
COOO00O00OO00OO0O0O0O(JQ
COOO000O00OO00O00O00OO(JQ
COOO00O00OO00OO0O0O0O(JQ
COOO000O00OO00O00O0O0OO(JQ
COOO00O00OO00OO0O0O0O(JQ
COOO000O00OO00O00O00OO(JQ
0000000000000 00(JQ

PLOOO0O0O00OO00000OOJ

OO0000000C0000VTCOOJ
cJelolelelololelolclololelelolele
cJelolelelolclelolclololelelolele
cJelolelelololelolclololelelolele
cJelolelelolclelolclololelelolele
cJelolelelolelelolelololelelolele
cJelolelelololelolelololelelolele
cJelolelelolclelolclololelelolele
000000000000 OOO00
cJelolelelolclelolclololelelolele
cJelolelelololelolclololelelolele
cJelolelelolclelolclololelelolele
cJelolelelololelolelololelelolele)
cJelolelelolclelolclololelelolele
cJelolelelololelolclololelelolele
cJelolelelolclelolclololelelolele
afalelalelelalalalalalelalatalala

OO0000000C00000TOOJ
cJelolelelolelelolclololelelolele
cJelolelelololelolclololelelolele
cJelolelelolelelolelololelelolele
cJelolelelolelelolclololelelolele
cJelolelelolelelolclololelelolele
cJelolelelololelolclololelelolele
cJelolelelolelelolelololelelolele
cJelolelelolclelolclololelelolele
eJelolelelololelolelololelelolele)
cJelolelelolelelolclololelelolele
cJelolelelolelelolelololelelolele
cJelolelelolclelolclololelelolele
eJelolelelololelolelololelelolele)
cJelolelelolelelolclololelelolele
cJelolelelolelelolclololelelolele
OOOOOOOO0O0O0O0OOO00O0ON

il
| p)OOOOOOOOOOOOLOO

5

max. 1200 i

DET.1

DET.2

50

\
Y

O

Varia P:

r

R =

max. 1200

[
—

Y

W 0] I
(N (D

OO
WA
!
i

o

Y
|

perforated sheet t=15mm, 810 square pitch 15mm. Welded to frame

Hot dipped galvanised: mounted to frame with rivets.

DET.S
T

[QE I

%,

DET.5

Bend for corners

R
%t@ 5
2541710

DET.4

| o}

e
B

50

]
g

@

0o soss

Y3 I T I3
v o o000

Plastic plug

DET.6

ETEEEREEEEE
ITEXXELXEERE

AR LR R

XX

R LT
SCRSESE NSO
TEEEEERY

ASLS
\Sfs
A&

TEEEXXREXEE
TTTTiieuRRRRRRNY

LR TRLRRRRRRC R DR

TR LR RN
XL REEE
TEEEEEEEREEEE

K

SOOI R K
SO SR R e R

SERA AR AR R

SEE AR AR R

SIS IO

SO S E T ST

S0

SC

ETEX LR TR E
AREEXXEEXREEE

ETEERERRRXRE

A XXX
T
SO

SO

Recomended for

fastening in wood

|

Fixing Elements

Standard

Quantity

Quality

Rivets 4 8x10mm

OIN 1337

AL

M10 x 25 Hexagonal bolf

OIN 933 / 1S0 4017

1

M10 Hexagon nuts

DIN 934 /1SO 4033

1

Washer for M10

DIN 125 /150 7091

2

Antal
Quantity

Comments

1. Al indeterminate welds: T-welds as fillet welds a = 3

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

PN-EN 1090

EXC2; CE

according to NS/SS-EN IS0 13920 class B

General tolerances regarding the construction welded

Above 30
o 120

Above 120 Above 400 Above 1000 Above 2000
to 400 to 1000 to 2000 to 4000

Above 4000

+

+2 +3 b 6

+8

Material

Steel S235JR
Posts: S355J2H
NS/SS-EN 10025-2

Vi ansvarar ej for trappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Titel
Title

Modern S Rail

Y thehandling
surface freatment

Massa
Mass

=50

Gen.

General folerances

EN 150139201996 B

Skala
Scale

1:20

tolerans

X

Konstr. | 11.0122-TM

Godk.
—

Ref.dwgs

Moster Skuggas Vig 7
64111 ARVIKA SWEDEN
Tel 0571-181077

j  www.abcsolutions.se

Ritn.nr
DwgNo

Varia P. Side mounted.idw




5 z
=, 253 2
= a
o >
""""""""""" = tg
(T LTSRS E NS =
SesSSSSesSSseas = g
VUVWUULUUNEWNS = £
(A1 11 SRS SRS R AN 0 9 B £3
CUUUUUCUCCCRCRCRCRNS A B L
CUCCLCUUUUNUNCCRCRCNS = |05
VLU UUUURNRRCURCNCS iy B
CUCUVVUVU_RRROUCLROACS pagER: 2
VUL UUUCC_CRUCUCRCNCNS =
St UUTUTUUVLCRLBLRCRCS 5
VUVUNLWUUWVCLN UL RNC RN g A
CUUUVUUU_U_ROURCRCOCS ks ER
CVVWVUUU_CCC_CURRONS =1 o
T L S S T N R £z |8 LE|
CUULUUUUUUC_RLRRRNLS
CUCUUUUU__NB_UCUCROUCS
11 T T TSR R SRR RN o
UV UU_U_RCCRROARCS &9
S|U"ULLUUBUURCOCCNS AR S
CUCUVUVUVUVUVUURLLLDL QN RS
S| ULVR_ORCCCLS T L4
VUV UUUNNRCCRCR RS s BEH
CULCUUUUUULLCLS L2 S 0 E =
CUCLCUUL_LCCL_LL LN -
- SLUGLLLLUSNRNLNLLLLRSY 3=
Pad] VUL UCCCCLCCRNNS |4
— CUVUUUUUCCCCCRONRCLS E
| CUUUVUUC_UCCRCCCRCS s TEsl
= I S SEE
(e ¥ CUVUUUULN_RRORNS £q
w) T L T Y N NN 58ls_
S M%me_
© =7
= CUCUUUUUSCRRRRTNS N R JEI
- | SeSSSNSLTNNNNARRNNNS S22l
-— CULULVUUUUULTULILQ SN g2
gL L 11T IT TS SRR RN SRR 8 W e g
<Y L 31T T T ST RRN SRR 8 W R AP
== T ST T TSRS SRR SRR R = ® <
— 11T TS SRS R RSN SR RS N g
= 11 1TSS TS LR RSN RN O S B
— (LSS S TS ST SRR R R 8 8 W 2 7
= L 31T 1TSS ST S RSSO
L T 1TSS TSNS RS RRR R \ D 0K3
. TIITTIEITEEEEES S S \ 0800 NN
= MTTTTTTEEE TS S S w _
w L 3111 ST TSRS RN S 2
11T TS TSRS RS S RN S O s £
A’ 11T TS ST R LRSS ARS S O TEs
TSI ETTYSTSSEESSSSSSS 523
m LA A A e A A e e wmm
o th“hhhh“hh”lllll SLSasssssssNswvwwe | mmm
= . Mum
E=z5%

llll'llllﬂ!llllllf,gy

CO PP PP PP PP
(X N NN NN NN NN NN EN
OO OOPOOOPIIPIIIIISOSY
P OOOPOIPOIVOIIIISISSSS
OO SL PO SIOIIISSVIPSISSSS
COOOPSOPrVIPOSPIOSSSSSSS
(NN NN NN N NN NN NN
OO IIPOPIIISIISSS
OOV
OSSOV SSIISISISIS S
(N NN NN NN NN NNNN
OOOOPOOSvIOSIVIISSS
P OOPOOIISIIISYIIV S
\\\\\\\\‘4\\\‘4\\\\




Varia P. Top mounted.idw

KKR-40x40x3 qual. $355

DET.3

DET.S Bend for corners

L30x30x3

DET.4

g12

BL2,kx2,0

DET.2

DET.6

m

(A

%4
I IO IESCSCICSESCSCSESISTA
A1/ | Qe Ittt
\ K=

(S 90 5055 35 95 95 55 30 56 S0 S0 S0 SKSESCY

O O Ry

’

DET.6

|

Quality
Al

Recomended for
fastening in wood

\ £ NENENENENE N NESERE NENENE W NENENEN

SRR RRRRRRARR DN W
AR RRRRRRDARD

N~N

N

\

QONORON

porosrssrrs

VYV VI YV Y

A

00¢1 Xedl

-

oot

0§ Xew

| 2l

o] o]

GICIGIVIGIVIGIVIGICIGIGIGIGIGIGI®)]
OO000000O000OOOOOO00OO
0000000000000 OO0O
OO0O000O00O000OOOOOO0OO
0000000000000 OO0O
OO000000O000OOOOOO00OO
0000000000000 OO0O
OO0O000O00O000OOOOOO0OO
0000000000000 OO0O
OO000000O000OOOOOO00OO
OO000000000OOOOOO0OO
OO000000O000OOOOOO00OO
0000000000000 OO0O
OO000000O000OOOOOO00OO
OO000000000OOOOOO0OO
0000000000 OOOOO0
0000000000 OOOOOO

o]

| | PO

ToT

OUO00U000UU0U00UUUU
0000000000000 O0O0O

OO0O000O00O000OOOOOO0OO
0000000000000 O0O0O
OO000000O000OOOOOO00O
0000000000000 O00OO
0000000000000 OOO0O
OO000000O000OOOOOO0O
OO000000O000OOOOOO0OO
OO000000O000OOOOOO00O
0000000000000 O0O0O
OO000000O000OOOOOO00O
0000000000000 O0O0O
0000000000 OOOOO0
0000000000 OOOOOO

200

max. 1

L

000000000000 0O00OJ F | PO
000000000000 0O0OO(JG

POOO00O00OO000O0O0O0O(JQ
COOO000O00OO00O00O00OO(JQ
COOO00O00OO00OO0O0O0O(JQ
COOO000O00OO00O00O00OO(JQ
COOO00O00OO00OO0O0O0O(JQ
COOO000O00OO00O00O0O0OO(JQ
COOO00O00OO00O0O0O0OO(JQ
COOO000O00OO00O0O000OO(JQ
COOO000O00OO00OO0O0O0O(JQ
COOO000O00OO00O00O0O0OO(JQ
0OO0O00O000OO00OO0O0O0O(JQ

I

N—]
Oq g
O

uOOOOOOOOOOOOOng

DET.1

DET.6
Plastic plug

—

D-D

DET.5

0¢

Quantity
1
1
2

Standard

DIN 7337
DIN 933 / IS0 4017
DIN 934 /IS0 4033
DIN 125 / 1S0 7091

Y thehandling

surface treatment

Ref.dwgs

Rev

64171 ARVIKA SWEDEN

Tel 0571-181077

=
&
=

www .abcsolutions.se

et Varia P. Top mounted.idw

Ritn.nr

Gen. tolerans

General folerances

Vi ansvarar ej for trappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

Titel
Title

Modern S Rail

Massa

Konstr. | 11.0122-TM

Mass

8

Fixing Elements
Rivets 4 8x10mm
M10 x 25 Hexagonal bolf
M10 Hexagon nuts
Washer for M10

Antal
Quantity

0

DET.4

DET.2

<

OO0

o
o
-—

&l

NN NN

QOO0

*
|

DETA

15mm, 810 square pitch 15mm. Welded to frame

perforated sheet t

Steel S235JR
Posts: S355J2H

NS/SS-EN 10025-2

Material

Above 4000
+8

Above 2000
to 4000
6

Above 1000
to 2000
4

Above 400
o 1000
3

according to NS/SS-EN IS0 13920 class B

Above 120
to 400
2

General tolerances regarding the construction welded

Above 30
o 120
1

ENRANE
0601 N3-Nd

2. Connection of elements do as butt welds with full penetration
3. With hot-dip galvanized components, welds should be closed.

1. Al indeterminate welds: T-welds as fillet welds a = 3

Comments

fs.

lve

mounted to frame with r

Hot dipped galvanised




"""l"""”"

"\ A AL LA LA L LR AN

—— e e e e e e e e e e e e e

- N W W U W W U N WTW.WeT e

A\ A S 5 5 % % A8 % 8 B Y

— e e e s e e e e o e e e e

Varia P. Top mounfed.idw assembled

SSSASssssasssvvvnwS
SYSS SN asNssTss DS
SN SSsssNvsvv v
A\ A S A A A S LS L 8% LN BN B
A A R A % 3 8RR R R R R R

Moster Skuggas Vig 7
64111 ARVIKA SWEDEN
Tel 0571-181077

ww.abcsolutions.se

Rev

Ritn.nr

e Varia P. Top mounted.idw

SN ssSSsSsvsvsssN LN
SSNSsSTNsasLSsS s
SSSANSNsAasCAsva NN
"\ AR A L A AR RS LR SRR AR
SSSSSsLsssssSs AN
SSSSsssss DR s

Vi ansvarar ej for trappans stabilitet vid infastningspunkter mot omkringliggande konstruktion.

VRUNWUNN% NN %N NN N NN
VUV UN%CNNW%N NN NN NN
VUNV%CURRNL% NN NN RNNN

VAR LERRVRWRLRVL RN

VUV VNLCNTL NN NN
VAR R R R R B R R R R R R S 5
VOSUV%LULCRLV22 2 v NN

LW W/E B W OB W OO W W W VW VOV
|

-‘ lll""llllllllll’
.‘ P OO TIPSO S

- (A A NN NN
POOS PO PrSOSPPIPSVSSS
VOOSOIPVOoPIPSIIOIIIISSS
PO OOPOINOIVOIIIISISSS
PO OPOPISOPIIIIIPIVr S S
(A NN XN NN NN NN
POOOIOPIPIVIPIPIOPPrrS
OOOPOPOVOIOIVIIIIOIVSSS
POPOOPOOPVIIIVIIOrSS
P OOPOPOIOIPIVIIIVNIIIISS
C AN NN NN NN NN NN NNN
COOPOPOPOPIOVOOIVIIOIVIIS
P OOPOOIOIOPOPIVIOIVIS
O OOPOPOOOPIPIPVIOSIIIIIS

58
m %
24 4
£z &
=
o
Iz |3d 49
o~
|
-5 |
ax N
= N S
n " S
M A
o~
on v =
L.
[ ]
U 4 )
U n
- LlO/
] v a B
£ =
2
=
s
S
- ©
@ | R
=1 2
7] =
=}
(<3
=
—@ig,
S wlYvg o
= wlgF o=
o @32
S T2
=
_-— O
v o~
c o
o m g
© —|E3
v ole S T
E V|22
=
o=
=}
Z V|
m Wuv |S o
o (S
[TV R ]
o g
Nmm
"
o
a
o =
=
o &
- £l
U TS o
o 2 S
S o|eF| o
+— S|z e
o8 =
— 2
™ ©
o
(<3
=
(<9
=) R
o 8| -
g =
3o
R
=
ENRAE]
=
S .
= O
o @
[
= 3
L =
=
~ 5 o
R " =1
° 33
PR
\ 2
2 = =
T =5
WWS
\ - S
w =
2 L o T
= T =
= -
g » v
b FJ——
X =
\N S 2 2
\ T v 8
) = © =
g \T o §
- v
A -
L L2 a
= = 8
o G =
) = E ©
o X =
23 =
o &
£ %5 o
Ec%
I S 1
==
L2552
=
s = EE
E = o =
E= O =
5 .
S = m




	Varia P. Side mounted
	Varia P. Top mounted

